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GEOGRAPHY
Paper-X Map Projections (In all Mediums)

(For USOL Candidates Only)

Time Allowed : Three Hours] [Maximum Marks: 20
Note :- (1) Attempt five questions in all.

(2) Question No. 1 is compulsory.

(3) Select one question from each of the remaining

four units.

(4) Use of coloured pencils, sketch pens, blank stencils

and simple calculator is allowed,

(5) Drawing sheets will be supplied by the Centre

Superintendent.

1. Attempt any four parts in about 25 words :—

(i) Define Grid,

(ii) Define Great Circle.

(iii) Classify map projection on the basis of mode of

construction.
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(iv) Properties of a standard parallel.

(v) Which projection is a^special case of Bonne's projection ?

(vi) Calculate the length of the Equator when the R.F. is

1 : 180,000,000. 4x1=4

UNIT—I

2. Define map projections. Classify map projections. Give a

detailed account of the projections based upon the purpose of

construction. !/2+l +5=6 !/2

3. Explain the general principles that help to identify zenithal map

projections. 6!/2

UNIT—D

4. Discuss the common properties of cylindrical map projections.

6/2

5. Draw a Graticule for cylindrical Equal area projection on a

scale of 1 : 150,000,000. The parallel interval is 15° and

meridian interval is 30°. 6'/2

UNIT—m
6. Give an account of International map projection explaining the

scheme of preparing and numbering of the projection. 6!/2

7. Draw a conical two standard parallel on a scale of

1 : 80,000,000. Extent is — 20° S to 80° S and 70° E to 150°

W. Parallel interval 10° and meridian interval 15°. 6'/a

0433/EPY-10138(T;



UNIT— IV

&. Draw a network of parallels and meridians for a zenithal

Equi-distant map projection on a scale of 1 : 160,000,000.

Graticule interval is 15°. 6!/z

9. Discuss the principles of construction of Sinusoidal map

projection. Give the properties, limitations and use of the

projection.

34-3^=6/2
v

1.

(i)

(ii) ite

(iii)

(1)V s

(2) 3Î T WfT 1

(3)

(4)

(5)
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(iv)

(v) (Bonne)

(vi) 1 : 1 80,000,000

2.

3.

4.

6,

7. 1 : 80,000,000 <

t — 20°

10°

cf.

*TT

4x1=4

6!/2

6!/2

5. 1 : 150,000,000% ^TFt'^ ^cHK>K ^FTPT

WTTcfT. sfcRIH 15° I sffc ^R^iJd 3fcRlcT30°

6/2

6/2

^HMId<

80° T^T $K 70° i %150° ̂ ^ I *RTcR

15° I 6/2
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' 8. 1 : 160,000,000^

15

9. (Sinusoidal)

(Graticule)

6'/2

(5) ^

:- (1) ̂  ilfT

(2) l̂ H?? ^H^ 1

(3) Wo

(4)

of

%5T frtc: f

1 . 6T£?t

(i)

(ii)

(iii)

(iv)

ufdsJ'flHd

HTH'A'dd

25
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(v) H£ (Bonne)

tr ?
*FH J-FHW

(vi) H^ »re. Jflt. 1 : 180,000,000 ut, 3* f

cftl

2. ĉm1" ijrlofJHA §

3.

4.

5. 1 : 150,000,000

5f I

c f l

— II

»FK

15° d »ft

6.

7. 1 : 80,000,000 % OH^ t

feHM'd fT -- 20° >^TT. 3s 80° >>TK

10°

4x1=4

ef

1/2+l+5=61/2

»FH

6J/2

6'/2

»f3rgr^300 ti

6Y2

70° Ft. 31 150°

15° t"! 6!/2
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8. 1 ; 160,000,000

6'/2

9. (Sinusoidal)
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